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And now that we are - 9mno® Y995R R PIYAR 9270 19 RRMPT RITINT
established according to Rabi Shimon it is permitted even initially

Overview

The X713 concluded that since we follow the view of w'" that a 1™2nn XYW 027 is
an, so therefore y12°1 is permitted even 791n3% (even on an earthen floor). N1vOIN
discusses what is the ruling regarding 712°2 (sweeping).

= 3P89172 199N 2NNYV INNN 11299 9V MY mabn bya
The 3''772 permitted sweeping even with X7 for this reason that the 7597 is w"> —

mooIn disagrees:
= 497N 929 MIN (3,797 97 P DIDIN DD PI9T PNNY 129299 NI )PN)

And the 5" disagrees; for X1 in 2°9277 > P9 maintains -
- 190509 9P 1IN YY MTIN N

‘It is permitted to move even brooms made from date palm leaves’ -
— 57919 HYWa 199N 9TYIIN 229 N1IYY NNA DSY NNNm IN 72999

And the &7n3 there asked, ‘did X"7 mean that on may move these brooms from the
sun into the shade (so they won’t spoil); can we say that X''9 permitted to move

even a 717N broom from 537 mn?!” This concludes the X 3. The *" continues with his question -
= 99DRD ININDN NNT DIYN PYNY 229D 1IN Y9WT NI NIIDT NYD NVIVIT YHWN

It seems that it is obvious to the X713 there that there is no one who will permit
moving this broom %7 7am7 even @' (who maintains 02 11507 1KY 727), because

the broom is a 22 which is T9RY» INOR»M -
- 95579 1NN M1 6729Y Y9 IN)

But if as the 3"712 maintains that it is permitted to sweep with X177 (according to

W), so the broom is 9n7% 1N28%7 and one should be permitted to move it even 9¥% ;7amn -
= 122119 99 1NIY 2391 NNYY Y5190 9ION 11295 INT) NON

! The 3"n2 was written, according to most opinions, by X71p 7Wwnw "; others attribute its authorship to T3 757 X7 .
2 The 2772 assumes that the 712> 710°X is because of N1 ™MWy, therefore since we follow w7 that 901 P1o0R TPRY 27
it should be permitted to sweep, just as 712" is permitted.
3 Py are the leaves of date palms [which are made into a broom for sweeping].
4 A marginal note amends this 77v°2% " and the following one to read TTY7R " (the XNAK).
3 The rule is that a ME°XY 1NIR™W 25 (a hammer for instance) may be moved 191 717%% (to chop nuts) or PR TNX?
(the place is needed for something else); however one cannot move a MO X? MIR?AY 73 for MY TN (it should not
spoil or be stolen). However a 7n°1? 1ax7aw *25 (like spoons) may be moved even 13y TNL5.
6 According to the 3"712 one is permitted to sweep with a broom because we follow the ruling of w"1 that 2nn PX is
2 (see footnote # 2), therefore the broom is a N°7% NIRPAW *92; it is designated to do permissible work.
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Rather we must certainly assume that sweeping is forbidden according to
everyone even ¥'"; the reason is because he is moving the earth away from its

place’ (but not because of N »MWK) -
$N1299 NPT NIN PYNY 2399 XN 1999 XD

And here we only permit y123°9 according to @', but not T12.

Summary
The 1"72 permits sweeping with a broom while the *"3 prohibits it because it is

moving %P1, making it a MONXY NIROAW 90, thus explaining why it cannot be
moved %% nnnn.

Thinking it over
What approach can be taken to justify the view of the 1"772?

7 The 1o¥ (earth) is %P and one may not move 77317, therefore the broom is a MO°R? NIXAW *22. The rule of X
11501 has no bearing here (for he is 11201 to move the %P earth).
8 By 1127, however, one is not moving any earth directly, therefore there is no 7¥p MOX; only the possibility of
mni "MK, however since it is an 1207 X it is N according to W'
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